Are the outputs from the PIC like Figure 1, 2 or 3?

Hi

Lo

Figure 1

Hi

Lo
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| have exaggerated the overlap/underlap for clarity.
See next page.




10k ICla (Hex Schmitt trigger such as 74C14, 40106, etc)

1k
T C1 100 pF

If Fig 1 or 2 apply, make 2 of these and insert in the Hi and Lo lines between the PIC and the IR2181 ICs.

If Fig 3 applies, make 1 of these and insert it in the Hi line between the PIC and the IR2181 ICs.
If more underlap isrequired inthe Lo line, insert 1 in this line also.

These will delay the positive edges of the signals by about 1 uS but only delay the negative edges by about 100 nS.
Connect the unused inputs of |C1 to gnd.

If 1 uSisinsufficient, increase C1



